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c. In what year will the population of Mexico be double what 1t was i 19807 Wnite the equation you
~_would solve and explain/show briefly how you solved:
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d. If the growth rate of the Mexican population were increased by one percent, what would be the

projected population of Mexico this year? How does that compare with your
original projection for thus year? Show how the equation changes and how you calculate the answer
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3) In 2012, the population of snipe in Green Bay was 210. Thus year, the population was 300 snipe.
a) Define the vanable ¢ to be the number of years since 2012. Assuming that the snipe population grows
exponentially, show how to determine an equation that will show the snipe population as a function of ¢
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' b) What is the growth rate governing the snipe population? \ . 30 b/ &8

¢) If this trend continues, what will be the snipe population in 2020? Show how You use your equation to
answer this question.
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would solve and explain/show briefly how you solved:
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d. If the growtk rate of the Mexican population were increased by one percent, what would be the
projected population of Mexico this year? How does that compare with your

original projection for this year? Show how the equation changes and how you calculate the answer.
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i ‘ 3) In 2012, the population of snipe in Green Bay was 210. This year, the population was 300snipe.

| \eor 3’“?‘ a) Define the variable / to be the number of years since 2012. Assuming that the smpe population grows

flhec Teey o " exponentially, show how to determine an equation that will show the snipe population as a function of ¢
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4v:#€%) If this trend continues, what will be the snipe population in 20207 Show how you use your equation 1o
answer this question.
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¢. In what year will the population of Mexico be double what it was in 19807 Wnite the equation you
would solve and explain/show briefly how you solved: Algn, 3.3
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d. If the growth rate of the Mexican population were increased by one percent, what would be the
projected population of Mexico this year? How does that compare with your
original projection for this year? Show how the equation changcs and how you calculate the answer.
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s + A() 3) In 2012, the population of snipe in Green Bay was 210. This year, the population was 300 snipe. i
a) Define the variable 7 to be the number of years since 2012. Assuming that the snipe population grows i
0 a\ (} exponentially, show how to determine an equation that will show the snipe population as a function of / %
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b) What is the growth rate governing the snipe population? A *— N eeds, DinCe 3‘3\3

¢) If this trend continues, what will be the snipe population in 20207 Show how you use your equation to
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c. In what year will the population of Mexico be double what it was in 19807 Write the equation you
would solve and explain/show briefly how you solved: ‘
T 97 yeors which was 1 0 a7,

s 6 L% :
HO)(:( ) (2} He popalaton ot Menco "“;5 3
(y)z 67 392 3 Llahgy o¥ sbod
- '_?g‘ybrw ot P"F"ﬂ,,;’; dpmillicr peypk.
LY 2 134,76 mwvlhon peopic .-}},:._. . a y 5 15 qov)
¥ ~ l, if"":' )
134,76 =67.38(1.08¢) Fign N )
(1.026)" St ;
L =U.O :
iy o
_7 e ;r [y ;1.53}
L( 2 7> - '3” (& r o Vmpfe w
d. If i - - ' ﬁi *"r'g*’i fgf 3—53’ «0
. If the growth rate of the Mexican population were increased by one percent, what would be
projected population of Mexico this year? How does that compare with your
original projection for this year? Show how the equation changes and how you calculate the answer.
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3) In 2012, the population of snipe in Green Bay was 210. This year, the population was 300 snipe.
a) Define the variable ¢ to be the number of years since 2012. Assuming that the snipe population grows & eors aPer 3012

exponentially, show how to determine an equation that will show the snipe population as a function of ¢ PCE) = nipt popslenon
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b) What is the growth rate goveming the snipe population? __crowth vaig = (L12¢-DU 00)
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¢) If this trend continues, what will be the snipe population in 2020? Show how you use your equation to
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c. In what year will the population of Mexico be double what it was in 19807 Write the equation you N
would solve and explain/show briefly how you solved: k:.*’ ﬁx\ o £ X ‘e
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d. If the growth rate of the Mexican population wer@ incrf®ed % %ne pitéent, what would be the
projected population of Mexico this year? How does that compare with your ﬁ
original projection for this year? Show how the equation changes and how you calculate the answer
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3) In 2012, the population of snipe in Green Bay was 210. This year, the population was 300snipe.
a) Define the variable ¢ to be the number of years since 2012. Assuming that the snipe population grows

exponentially, show how to determine an equation that will show the snipe population as a function of t
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b) What is the growth rate governing the snipe population? L \295

c) If this trend continues, what will be the snipe population in 20207 Show how you use your equation to
answer this question. 3 m \ { ‘hl
- . ,
in J00 MR PofuiaTion

5N 2000 %5 \
LD ) \ | c&, :
o oy M ok S snipes

o) Su




P2 67.3% 1,020

¢. In what year will the population of Mexico be double what it was in 19807 Write the equation you
would solve and explain/show briefly how you solved:
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d. If the growth rate of the Mexican population were increased by one percent, what would be the
projected population of Mexico this year? How does that compare with your
original projection for this year? Show how the equation changes and how you calculate the answer.
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3) In 2012, the population of snipe in Green Bay was 210. This year, the population was 300 smpe : 'b\"\ e ‘\’Q,*‘l",k
a) Define the variable {10 be the number of years since 2012. Assuming that the suipe population grows * | "‘1”{ -
exponentially, show how to determine an equation that will show th@sm'pe population as a function of £/ 1/ -7\ T~ !
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b) What is the growth rate governing the snipe population? 2.6 \ ¢ b\‘ - ,Ll O, \TUO* _.

¢) If this trend continues, what will be the snipe population in 2020? Show how you use your equation to VT3 yALR 2%

answer this question. 7070~ AN A S V(e -78a%
CiR)= 710 \\Th 5 vy
VI ) e, =
— - oA s
X D 5,,1'\@(‘ : 5
_es B b W S(Y‘L \ ':‘, 5
=) 5 v sl 207¢

\iga e, <\ .{‘,i.
(i L GG ALYS Sl

s e et d




